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FACULTY OF SOCIAL SCIENCES
B.A. (Second Semester) EXAMINATION
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ECONOMICS
Paper IV
(Agricultural Economics)
(MCQ + Theory)

(Monday, 29-10-2018) Time : 10.00 a.m. to 12.00 noon
Time—2 Hours Maximum Marks—40
N.B. .— (1) Attempt all questions.

(11)  All questions carry equal marks.

(i1 Wrong answers will carry negative marks.
() wd@ YT gEan

() | JAA AN O SR

(7)) TR STUH TRRHE 0T SR
MCQ 10
1. Attempt the following multiple choice questions :
Tl Sgaardt ged dred
(1) Identify the false statement of the following :

(A)  Collective farming cultivated collectively
(B)  Collective farming cultivated by labour
(C)  Collective farming cultivated individually

(D)  Collective farming cultivated jointly
Trelcush! oeh faum siean :
(A)  EHeTfaesk TUdt FHfeRdul shell S

(B) WU Ul KRS el S
(C)  wHgIfaer It dAfeeh 9Ol el S

-~

(D)  WEEIUE T SgFTU el S

P.T.O.
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Select the true statement from the following :

(A) Friends are not a source of agriculture finance
(B)  Relatives are not a source of agriculture finance
(C) Merchants are not a source of agriculture finance
(D) Co-operative Banks are main source of agriculture finance
Tt W fagmmET feae &0

A) o3 T FN o @eE @

(B) TER® § FHY fOyiEca WEA ARd

(C) =HU ® it facqeaeara @ed @

(D) FEHR dehl TN H focqaca™ & |EA 3Ted
Land Reforms is a part of ................. .

(A)  Agricultural price policy

(B) Agricultural policy

(C)  Agricultural cost policy

(D)  Agricultural marketing policy

S GERO & T T

(A Ff0 e HRomn

(B) ¥ Hrom=

(C) FfH Td oM

D)  HfH fauTT &

What is short-term credit ?

(A)  Twelve months credit (B) Six months credit
(C)  One month credit (D) Twenty months credit
ST HSqdel BUS & 7

(A) S0 HARGUIET GqYLerd] (B) wgl Higwaren qdqieEe
(C) Ueh HIETAM qaAgeral (D) =" AfGTAET YqyLEe
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Match List I with List IT and select the correct answer from the codes

given below the lists :

List I
(a) Peasant farming (1)
(b) State farming 07))
(0 Collective farming (111)

(d)  Co-operative farming (1)
Codes
(@ W @ (@
A @ Gy Gm v
B) I v B (D)

List II

Large size
Co-operative principle
Small size

Limited scope

IR 19 At I 7efid arg Siedl S[ogd @eid [Goledl Hehdahmed arig

© Gv G G @
D) G G Gv) ()
ERRCIIECENC T

BRI
(@) HuH (2)
(b) T Tl (1)
(0  HHaTah Sl (i1)
(d) Hehil Tt (1v)
Hehdich :

(@ W) (o (d
A @ @ D (v
B) @) Gw () (D)
C) Gv G G Q)
D) G G Gv) Q)

Tt I

&1 3R
RN q@
NEEREIET
T AT

P.T.O.
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..................... is an institutional source of agriculture finance.

(A)  Co-operative Society (B) Landlord

(C) Relative (D)  Friend
.................... % ﬂ')ihel qd‘f\qd?“a ﬁaﬁ mgl:[ 3:ﬂ%~
(A) HEHRT geer (B)  SIHER
(C) FaTE® D) =

Which of the following is the problem of Indian Agricultural credit
supply ?

(A) Insufficient supply of loan

(B) Problem of overdues

(C)  Defective co-operative system

(D) All of the above

TTeledeh! ARATA Hil Jaqacar el hIoer 2
(A) I HSl IS (B)  ehdThi=l ¥
(C) &I Wbl Fom (D) Frder o

In India, wage rate of agricultural labour is .................... .

(A)  Less (B)  High
(C)  Very high (D) Very low
ARAT WAHSIET o= G oo 3.
(A) 379 B ==
(C)  Afa-3S=d (D)  Afd-31ed

Which of the following benefits reap by agricultural sector due to

subsidies ?

(A)  Agriculture can be run under critical situation
(B)  Availability of cheap raw material to industries
(C)  Opportunity for export of agricultural product
(D)  All of the above
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TICATAUR! IO 1Y i & TR Hiven Hesa  ?
(A)  Yideel aRftediel Sl SHaE@ g& Saa Il
(B) SENE W& whedl Al S Bldl
(C) Y A T ore fgesd
D) =l e

(10)  Which of the following is the reason for mobility of rural labour ?

(A) Lack of work (B) Lack of income source
(C) Both (A) and (B) (D)  None of these
ETeeTeh! I UM SIfHehT= T $RU 378 2
(A) HTHET STHE (B) 3= Hidren 31T
(C) < (A) emfor (B) (D) YT THE AT
Theory
State the problems of marginal and small farmers. 10

foua 9 Do de=ar=a THYAT H.
Or
(feram)

Describe sources of Agricultural credit in India.

ARATA $iY focyiesar= 9id T &
Describe the effects of globalization on Indian agriculture. 10
ARAH Qo SIATfqehlshiom= et IR ¥ .
Or
(fenam)
Evaluate the Agricultural Price Policy in India.
R F R RO e w9

P.T.O.
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4, Write short notes on (any two) : 10
§)) Mobility of labour
(11) Peasant farming
(i7iii NABARD

(1v) Collective farming.

dresrd few fomr (Fvd @9) .

() syfenT= TIfdeTican
(i) dafEds Ol
(i) e
(fv) WG 9.
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